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QUESTION 1
What could cause an AddTargetUser operation to fall with a 401 or a 403 error?
A. Virtual Assembly Builder Deployer application is down.

B. The user whose credentials were used to connect to Virtual Assembly Deployer has not been granted the Cloud
Admin role.

C. A connection between Virtual Assembly Builder Deployer and oracle VM Manager resource pool has not been
configured.

D. The Oracle VM Manager Admin user, whose credentials were used in the createTarget operation, has not been
granted the Application Admin role.

Correct Answer: B

QUESTION 2

Which two conditions ensure enabling SSL Mutual Authentication (two-way SSL?) (Choose two.)
A. There is confidential communication between client and server.

B. The server trusts the client and the client trusts he server.

C. The client is authorized to accessindex.html.

D. Clients can enter the DMZ.

Correct Answer: BD

QUESTION 3

After going through a sizing exercise, you determine that your application will need 100 storage-enabled JVMs with 4
GB heaps. You have 10 physical machines with 16 cores and 32 GB of RAM.

Which performance-tuning best practice would be violated by deploying your application on these machines?
A. Heap sizes should not be larger than 512 MB.

B. OS socket buffers should be at least 2 MB.

C. Avoid OS memory swapping/paging by not exhausting physical RAM.

D. Do not exceed one JVM per core.

Correct Answer: B

QUESTION 4
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The performance of your query is very slow.

Which two actions would you take to diagnose potential bottlenecks? (Choose two.)
A. Check that indexes are registered against the fields being queried.

B. Monitor the task execution time.

C. Use the QueryRecorder to see the query Trace and Explain plan.

D. Check that indexes are cached against the fields being queried.

E. Monitor the task performance time.

Correct Answer: BD

QUESTION 5

A Coherence node dies and is removed from a cluster.

What two actions occur if that node was part of a distributed cache where backup_count = 1? (Choose two.)
A. Access is blocked to all operations while the cluster is rebalanced.

B. Data is re-partitioned so that all data is accessible again.

C. Partitions are moved so that the data is balanced among remaining nodes.

D. Backup partitions are promoted to be primary, and new backups are created.

Correct Answer: AC
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